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SARDAR PATEL UNIVERSITY
B.Com. (I - Semester) Examination
Thursday, o' March, 2023
2.00 pm - 5.00 pm
UB01CCOM53/23 - Business Mathematics & Statistics - |

Total Marks: 70

Note: Figures to the right indicate marks.

Q.1
(A)

(B)

Define the following sets, with examples.
(i) Power Set (i) Universal Set (iii) Subset

WA={1,23,4,5};B={3,4,56},C= {1, 3, 4, 7}, then Prove that
(HAuBNnC)=(AuB)Yn(AuC) '
(ii)Am(BuC)=(AmC)u(AmC)

OR
Explain determinant and types of determinants with proper examples.
Solve the following equations using cramer's rules.

(iy x+6y=2xy;3x+2y=2xy.
(i) 5x + 7y = 2xy ; 11x + 15y = 4xy

Explain the following matrices
(i) Diagonal Matrix  (ii) Symmetric matrix
(iii) Inverse matrix * (iv) Square matrix

21 ~1b
fA=|1 0 =1| then provethat AA"-1
11 2
OR
2 3 1
Explain adjoint of a matix, if A= |0 5 6] then find Adj. A.
1 1 2

Solve the following equation, using inverse matrix x +y+z=3;2x-y-z=3,
X-y+z=9

Explain the following terms
(i) Simple interest (i) Compound interest (iii) annuity

Solve the following examples
(i) If Rs. 25000 is deposited in a bank for five years at the rate of compound
interest 12%, then how much amount is given by bank after five years.
(i) Find the compound interest of Rs. 20000 at the compound interest rate
10% for four years, if the interest is calculated at every six months.
OR
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Q.3

Q.4
(A)

(B)

Q.4
(A)

Mr. A has deposited Rs. 500000 in a co-operative bank. If for the first two
years rate of interest is 14%, for the next two years rate of interest is 15% and
then after for three years, rate of interest is 16%, then after seven years how

much amount Mr. A will received from the bank.

How much amount should be credited by Mr. A, at 10% compound rate of

interest, so that Mr. A can get Rs. 100000 after 10 years.

Explain Interpolation and Extrapolation with proper examples.

Estimate the premium at the age of 28, from the given data

Age in years 20 25 30 35 40
Premium 23 26 30 35 42
OR

Explain operators A and E, with formulas prove that A = E-1
Explain Binomial expansion method and find the missing value in the foliowing
data.
Year 1970 1975 | 1980 1985 1990
Popuiation (in Lakh) 14 18 24 30 {(?)
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